[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXXXKXXKXXKXXKXXKXKX KX KXKXKXKXXKXXKXX XX KXKXXKXKXKXXXKXKXKXKXMS /1-6700308-00001XX
TrigonometryExercise8 Answers for No.9844

1= (8443 = 145.492) M
a
Ansl =[1564/3 — 156 = 114.200], , Ans2=[/37 =6.083], , Ans3 = 7.3 RIS
.2 =| arctan 5 =45.295 t
h

.1 =310 M
Ans4 =131.654, , Ans5=169.793, , Ans6=133, , A”S7—[2:199}’ | U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXKXX XX XXKXX XX KXXKXXKXKXXKXXKXKXKXKXXME /1-6700308-00002XX
TrigonometryExercise8 Answers for No.9872

1=(224/3 =38.105) M

Ansl =[604/3 = 103.923], , Ans2=[+/145-724/2 =6.571], , Ans3— 114/3 R
.2 =| arctan =21.650 {

h

1=281 M
Ans4=171.650, , Ans5=96.852, , Ans6 =140, , Ans7—[2 _ 40}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KKK LXK KX KKXLX LKL LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /1-6700308-00003XX
TrigonometryExercise8 Answers for No.9873

] =84 M
AnsI=[5643 =96.995), , Ans2=[4/ 113 -5642 =58141, . Ans3 = 2_(arctan(gj_336900), |
. - 3 - M h

1=319 M

Ans4=141.700, , Ans5=77.977, , Ans6=128, ’A”S7‘[2=183}’ | U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXKXXKXXKXXKXX KX KXKXX KX XXXX XX KXXXXKXKXXXXKXKXKXKXXME /1-6700308-00004XX
TrigonometryExercise8 Answers for No.9884

1=(7243 = 124.708) M

Ansl =[664/3 —66=48315], , Ans2=[4+/5—-243 =4.957], , Ans3= 643 RN
.2 =| arctan =43.373 t
h

@
.1:169} M
2=97] 'l U

Ans4=131.900, , Ans5=145.696, , Ans6 =175, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXXXKXXKXXKXXKX KX KXKXX KX KXXXX XX KXXKXXKXKXXKXXKXXKXKXXME /1-6700308-00005XX
TrigonometryExercise8 Answers for No.9885

1=(204/3 =34.641) M

Ansl = [844[3 —84=61.492], , Ans2=[34/13-64/2 =6374], , Ans3 = 2.3 RN
.2 =| arctan =21.052 {
h

.]=280}
2=180) °

Ans4=141.907, , Ans5=69428, , Ans6=209, , Ans7 =[

NS XE

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKX XXX XXX KKK LXK KX KKXLX KKK LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /1-6700308-00006XX
TrigonometryExercise8 Answers for No.9895
M
1=(6643 =114.315)

Ansl =[120 —404/3 =50.718], , Ans2=[+/ 130 —634/3 =4.570], , Ans3 = A3 RN
.2 =| arctan 7 =40.893 t
h

@
1=109 M
Ans4=152.249, , Ans5=67250, , Ans6=126, ’A”S7‘[.2=62}’ | U

T
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKXKX KX KKK KKK KKKK KX KKKX KKK KKK KK KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXX XX XXXX XX KXXXXKXKXXXXKXKXKKXXME /1-6700308-00007XX
TrigonometryExercise8 Answers for No.9898

1=(7243 = 124.708) M

Ansl = [844[3 = 145492, , Ans2=[4+/5-243 =4957], , Ans3= 124/3 RN
.2 =| arctan =42.103 t
h

@
.1:320} M
2=245 | U

Ans4=161.750, , Ans5=125.005, , Ans6 =234, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKX KX KXKXX KX XXKXX XX XXXXKXXKXXKXXKXXKXKXXME /1-6700308-00008XX
TrigonometryExercise8 Answers for No.9899

1=(9643 = 166.277) M
a
Ans1 =[12043 — 120=87.846], , Ans2=[4/19 =4359], , Ans3 = 2.4/3 b
.2 =| arctan =49.107 t
h

1=129 M
Ans4=181.800, , Ans5=78.813, , Ans6=189, |, Ans7—[‘2:74}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKX XXX XXX KKK KKK KX KKXLX LKL XKL LXK LXK LXK KKK KKK X KKKKKKKKKMS /1-6700308-00009XX
TrigonometryExercise8 Answers for No.9920

1=(324/3 = 55.426) M

Ansl =[804/3 = 138.564], , Ans2=[/89—404/3 =4.440], , Ans3— E) RN
.2 =| arctan 3 =22.777 {

h

@
.1:143} M
2=820 |l U

Ans4 =182.548, , Ans5=67.753, , Ans6=114, Ans7=[

T
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKX KKK KKK KX KKKK KX KKK KKK KKK KK KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXXXKXX KX KXKXX XX XXX XXX XXXXKXKXXXKXKXKXKXXME/1-6700308-00010XX
TrigonometryExercise8 Answers for No.10000

1=(904/3 = 155.885) M
Ansl =[78 —264/3 =32.967], , Ans2=[7=7.000], , Ans3 = 54/3 s s
[ [ : [ : .2:(arctan( [ :51.052"} t
h
) @
1 =155 M
Ans4=152.030, , Ans5=110.483, , Ans6 =143, , Ans7—[.2:89 rolo
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKK XXX XXKXX XX KXXXXKXKXKXXXKXKXKXKXXME /1-6700308-00011XX
TrigonometryExercise8 Answers for No.10017

1=T72 M
Ansl =[7243 =72=52.708], , Ans2=[/73 =8.544], , Ans3 | 2:(arctan(_j: el Ooj, |
h

1=211 M

Ans4 =142.025, , Ans5=168.208, , Ans6 =224, , Ans7—[2:121}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKX XXX XXX KKK LXK KX KKXKX LKL KKK KKK LXK LXK KKK KKK KKK KKKKKKMS /1-6700308-00012XX
TrigonometryExercise8 Answers for No.10025
M
1=(22+/3 =38.105)

Ansl = [844[3 = 1454921, , Ans2=[2+/25—-124/3 =4.106], , Ans3— |3 RN
.2 =| arctan T =16.102 {
h

@
1=219 M
Ans4=151.930, , Ans5=64.338, , Ans6=18l, ’A”S7‘[2=155}’ U

T
X [Page = 0004] XXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKXXKKKKX XX KKK KKK KKK KKK KKKK XX KKKX KKK KKK X KKKKKXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXKXX KX XKXXX XX XXX XKXKXXKXXKXXKXKXXME /1-6700308-00013XX
TrigonometryExercise8 Answers for No.10057

1=96 M

Ansl = [844/3 = 145.492], , Ans2=[/113=564/2 =5814], , Ans3 .2=(arctan(ﬁj=36.027°]’ |
h

.1 =506 M
Ans4=191.650, , Ans5=151.070, , Ans6 =305, , Ans7—[2:388}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXKXXKX KX KXKXX KX KXXKXX XX KXXKXXKXKXKXXKXKXKKXXME/1-6700308-00014XX
TrigonometryExercise8 Answers for No.10061

1=(604/3 =103.923) M

Ansl =[156 —524/3 =65.933], , Ans2=[/89—404/2 =5.695], , Ans3— 104/3 e
.2 =| arctan =39.515 !

h

@
.1:131} M
2=75] | U

Ans4=172.029, , Ans5=56.050, , Ans6=177, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKX XXX XXX KKK LXK KX XKXKX LKL KKK LKL LXK LXK LXK KKK KX KKKKKKKKKMS /1-6700308-00015XX
TrigonometryExercise8 Answers for No.10071

1=(204/3 = 34.641) M
a
Ansl =[524/3 =90.0671, , Ans2=[4/37 =6.083], , Ans3= 543 RIS
.2 =| arctan 4 )= 19.842 t
h

1 =243 M
Ans4 =182.448, , Ans5=75.840, , Ans6=126, Ans7—[2 _ 172}, U
T

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKKX XX KKKX KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXXKXX KX KXXKXX XX XXXXKKXKXXXXKXKXKXKXXME /1-6700308-00016XX
TrigonometryExercise8 Answers for No.10088

1= (2443 =41.569) M

Ansl =[1084/3 = 108=79.061], , Ans2=[/34—154/2 =3.576], , Ans3— 443 RN
.2 =| arctan 3 =16.764 {

h

.1 =230 M
Ans4 =141.750, , Ans5=143.197, , Ans6 =211, , Ans7—[2:148}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX XX KXKXXX KX XXKXX XX XXX XKKXKXKXXKXKXKXKXXME/1-6700308-00017XX
TrigonometryExercise8 Answers for No.10385

1=78 M
= — = = = = 13 :
Ansl =[66—224/3 =27.895], , Ans2=[/37 =6.083], , Ans3 .2:(arctan(_j:29.476oj’ '
23
h
1=665] | M
Ans4=181.983, , Ans5=92.014, , Ans6=142, aA”S7—[2:427}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX XXX KKK KX KKXLX XKL LKL LKL KKK LXK LXK KKK KKK KX KKKKKKKKKMS /1-6700308-00018XX
TrigonometryExercise8 Answers for No.10387

1=(604/3 =103.923) M

Ansl =[784/3 =78 =57.100], , Ans2=[24/7 =5.292], , Ans3 = 3 RN
.2 =| arctan T =40.893 t
h

Ansd =141.925, , Ans5=105.773, , Ans6=182, ’A”S7:[.]:137}’ v
2=88 U
T

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKXKX KX KKK KKK KKKK XX KKK KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX XX KXXX XX KXXKXX XX KXXKXXKKXKXXKXXKXXKXKXXME /1-6700308-00019XX
TrigonometryExercise8 Answers for No.10914

1=(604/3 =103.923) M
a
AnsI =[1004/3 = 1732051, , Ans2=1[+/67 =8.185], , Ans3 = 543 RIS
.2 =| arctan =43.898 t
h

1 =421 M
Ans4=191.923, , Ans5=72.512, , Ans6=234, Ans7—[2:210}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKK XKL KXXKXX XX KXXKXXKXKXXXXKXKXKXKXXME /1-6700308-00020XX
TrigonometryExercise8 Answers for No.10945

1= (2643 =45.033) M

Ansl =[132—444/3 2557901, , Ans2=[34/10-34/3 =6.575], , Ans3 = 134/3 RN
.2 =| arctan =21.555 {
h

@
.1:219} M
2=1410 ’| U

Ans4=131.750, , Ans5=78.123, , Ans6=126, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKX XXX XXX KKK KX KKXKX KKK LKL KKK KKK LXK LXK KKK KX KKXKXKKKKKKKKKMS /1-6700308-00021XX
TrigonometryExercise8 Answers for No.10954

=284 M
_ _ _ _ _ - - 7 4
Ansl =[108 —364/3 =45.646], , Ans2=[/61 —304/2 =4310], , Ans3 ‘2:(arctan(_]:34'9920), |
h

@

1=380] | M

Ans4=131.384, , Ans5=102.283, , Ans6 =217, , Ans7—[2=244}, U

T

X [Page = 0007] XXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKX XX KKK KKK KKK KX KKKK XX KKK KKK KKK KK KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKX KX KKXKXX XX XXKXX XX KXXXXKXKXXXKXKXKXKXXME /1-6700308-00022XX
TrigonometryExercise8 Answers for No.10966

1=(6643 = 114315) M

Ansl =[1004/3 = 173205], , dns2=[/41 —204/2 =3.566], , Ans3— 114/3 RN
.2 =| arctan, =49.977 t

h

@
.1:376} M
2=288 | U

Ans4 =141.800, , Ans5=118.765, , Ans6 =275, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXKXX XX XXKXX XX KXXXXKXKXXKXXKXKXKXKXXME /1-6700308-00023XX
TrigonometryExercise8 Answers for No.11154

1=66 M
Ansl =[1504/3 = 150 = 109.808], , Ans2=[34/5-24/2 =4.421], , Ans3 = 2_(arctang _288110j, |
. - 2 - .
h
@
1=230] |Mm
Ans4=171.591, , Ans5=119.840, , Ans6=179, , Ans7—[2:115}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXXXKX XXX XXX KKK LXK KX KKXKX LKL LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /1-6700308-00024XX
TrigonometryExercise8 Answers for No.11191

1= (2443 = 41.569) M

Ansl =[1144]3 —114=83.454], , Ans2=[34/5-24/2 =4421], , Ans3 = 243 RN
.2 =| arctan =21.052 t
h

.1 =300 M
Ans4=181.880, , Ans5=96.411, , Ans6=149, , Ans7= |:.2 = 230}’ U
T

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKXKXXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKK KX KKKX KKK KKK XX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXKXX KX XKXKXX XX KXXKXXKXKXKXXKXXKXKXKXKXXME /1-6700308-00025XX
TrigonometryExercise8 Answers for No.11309

=90 M
) o T _ _ 15 ¢
AnsI=[150/3 ~150=100.808], . Ans2=[1/41-204/3 =2.522], . Ans3= (arctan _] 29'982())’ 1!
26 h

@

1=88] | M

Ans4=191.484, , Ans5=66.244, |, Ans6=211, |, Ans7—[2:44}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXXXKXX KX KKXKXX KX XXXX XX KXXKXXKXKXXXXKXKXKXKXXME /1-6700308-00026XX
TrigonometryExercise8 Answers for No.12483

1=(2043 =34.641) M

Ansl =[138 —464/3 = 58326, , Ans2=[/74—354/2 =4.950], , Ans3 = 104/3 e
.2 =| arctan =18.758 !

h

@
1:122} M
2=780 |l U

Ans4=171.900, , Ans5=92.057, , Ans6=128, |, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXX XXX XXX KKK LXK KX KKXKX LKL KKK KKK LXK LXK KKK LXK X KKKKKKKKKMS /1-6700308-00027XX
TrigonometryExercise8 Answers for No.12557

1=(324/3 = 55.426)

M
Ansl =[764/3 = 131.636], , Ans2=[+/58=214/2 =5.320], , Ans3= 164/3 RN
.2 =| arctan =23.744 t

h

@
1 =219 M
Ans4=191.363, , Ans5=75927, , Ans6=247, Ans7—[2=141}, U

T
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKK XX KKKX KKK KKKK X KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXKXXKXX KX KXKX XX XXXX XX KXXKXXKKXKXXXXKXKXKXKXXME/1-6700308-00028XX
TrigonometryExercise8 Answers for No.12637

1=(9643 = 166.277) M
a
Ansl=[114-384/3 =48.182], , Ans2=[13 =3.606], , Ans3= 843 RIS
.2 =| arctan =51.555 t
h

1 =352 M
Ans4=192.023, , Ans5=91.880, , Ans6=116, Ans7—[2 :202}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXXX KX KXXXX XX XXXXKKXKXXKXXKXXKXKXXME/1-6700308-00029XX
TrigonometryExercise8 Answers for No.12689

M
1=96
Ans1=[132-4413 2557901, . Ans2=[24/13-64/3 =3230], . Ans3 -2:(arctan —j=37'3°40]’ 1
21 h
@
1=143 M
Ans4=171.591, , Ans5=97.148, , Ans6 =126, aA”S7—[-2:82}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KKK LXK KX KKXLX LKL LKL XKL LXK LXK KKK KKK KX KKKKKKKKKMS /1-6700308-00030XX
TrigonometryExercise8 Answers for No.13349

=178 M

Ansl =[1044/3 =180.133], , Ans2=[/61-304/2 =4310], , Ans3 2:(““3“(5):31'7590]’ |
h

.1 =300 M
Ans4=191.434, , Ans5=137.743, , Ans6 =126, , Ans7—[2 _ 193}, U
T

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKXXKKKKXKXKKKX KKK KKK KKK KKKK KX KKK KKK KKKK X KKXK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXX KX XXXX KX XXX K XKXXXXKXXKKXXME /1-6700308-00031XX
TrigonometryExercise8 Answers for No.13519

1=(964/3 = 166.277) M
a
Ansl =[90—304/3 =38.038], , Ans2=[19 =4359], , Ans3= 164/3 RIS
.2 =| arctan =47.946 t
h

.1 =365 M
Ans4 =131.654, , Ans5=135.246, , Ans6=133, , A”S7—[2 _ 235}’ | U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX XX KKK XXX XXXX XX KXXXXKKXKXXXXKXKXKXKXXME /1-6700308-00032XX
TrigonometryExercise8 Answers for No.14276

=284 M
Ansl = [4443 =76210], , Ans2=[4/130— 6343 =4.570], , Ans3 = 2_(arctan(lJ_349920j, |
h

Ans4 =181.830, , Ans5=128.703, , Ans6 =145, , Ans7=[']2:_19490}, , ]\5

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKX XXX XXX KKK LXK KX KKXKX LXK KKK LKL LXK LXK LXK KKK X KKKKKKKKKMS /1-6700308-00033XX
TrigonometryExercise8 Answers for No.14380

1=(904/3 = 155.885) M

Ansl =[664/3 —66=48315], , Ans2=[24/13 =642 =4250], , Ans3— 343 RN
.2 =| arctan =52.411 {
h

@
.1:240} M
2=1540 ’| U

Ans4=171.709, , Ans5=60.611, , Ans6=278, Ans7=[

T
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXXKKKKXXKKKKXKXKKKX KKK KKK KX KKKK KK KKK KKK KKK KKK KKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXX KX XKXKXX XX KXXKXX KX KXXXKXXKXKXXME /1-6700308-00034XX
TrigonometryExercise8 Answers for No.14393

1=(2643 =45.033) M
a
Ansl =[5643 =96.995], , Ans2=[3+47 =7937], , Ans3= 1343 ,
[ [ : : : .2=[arctan[ [j:18.838°j t
h

1 =334 M
Ans4=132.357, , Ans5=82.075, , Ans6=163, , Ans7 = [2 _ 236}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXKXXXKXXKXXKXXKXX KX KXKXX KX KKK XXX XXXXKXKXXKXXKXXKXKXXME/1-6700308-00035XX
TrigonometryExercise8 Answers for No.14417

1=96 M

_ _ _ _ _ _ - 8 “
Ansl =[108 —364/3 =45.646], , Ans2=[3+/13—64/3 =4.845], , Ans3 2:(arctan(5j:31.608°]’ i
h

@
1=326 M
Ans4=131.234, , Ans5=119.079, , Ans6=294, ,Ans7—[2:163l U

T
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